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There are two points A and B on both sides of the river.
Let C be a point 100m away from point A.
Find the distance between AB when £ A=105° and £ C=45°.
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When looking up at the tip P of a chimney PH with a height of 30 m from
two points A and B, Z/PAH = 30°, Z/PBH = 45°, and ZAHB = 150°.
Find the distance between AB.
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Z PAH=60°, ~/ BAH=15°, / ABH=45°, AB=30m.
Find the height PH of the chimney.
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When we measured the distance and ZACB from point C to trees A and B
standing on both sides of the pond, we found that AC=15m, AB=7m, and
Z/ACB=60°. Find the distance AB.
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Looking at the summit P from two points A and B at the foot of the
mountain, ZPAB = 60° and ZPBA = 75°. When I looked up from B to P,
it was 30°. If the distance AB is 100m, find the difference in elevation
between P and B.
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In a regular tetrahedron abcd with one side length 2, let M be the
midpoint of side CD. Find the area S of A ABM.
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Inscribed in a regular tetrahedron ABCD whose side length is 4
Let O be the center of the sphere. Answer the next question.
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Find the area S1 of A ABC.
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Find the volume V7 of the regular tetrahedron ABCD.
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Find the radius r of the inscribed sphere.
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